
[This question paper contains 16 printed pages.] 

Sr. No. of Question Paper 57 48 D Your Roll No ............... . 

Unique Paper Code 241509 

Name of the Course B.Com. (Hons.) 

Name of the Paper Corporate Tax Planning [CH-5.4 C] 

Semester v 

Time : 3 Hours Maximum Marks : 7 5 

Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

2. All questions are compulsory. 

3. All questions of each Section (A, B and C) should be attempted together. 

4. Answers may be written in Hindi or English but the same medium should be 
followed throughout the paper. 

1. ~ ~- tF-1 cfi ~ -m "3i1R ~ lW RmRa-~ lR ~ 31j<;t141iCfl ~ 1 

2. ~~~~~ 

3. ~~ (cti, (Cf 3ik "IT) cfi ~ ~ cfi~ ~~~I 

4. ~~-tF-{CfiT~ ~<rrm<ft~~ ~~~. ~~~Cfil~~ 

mm~1 

SECTION A (~ en) 

1. (a) "Tax-planning is an act within·the four corners of the ACT and it's not a 

colourable device to avoid tax." Discuss in brief. Also distinguish tax-planning 

from tax evasion. (5) 

(b) The Profit & Loss account of X LTD., a domestic company, for the year 

ending 31'', march 2013 is given below: 

PTO. 

r 
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Profit & Loss Account 

PARTICULARS AMOUNT PARTICULARS AMOUNT 

(Rs.) (Rs.) 

Expenditure related to Sale of goods manufactured 

goods manufactured 20,00,000 by the company 32,00,000 

Expenditure related to Sale of other goods 29,00,000 

sale of other goods 16,40,000 

Proposed Dividend 16,10,000 Long term Capital gain 11,40,000 

Provision For Unascertained Amount withdrawn 

Liabilities 80,000 from General Reserve 40,000 

General reserve 1,20,000 

Income tax paid 60,000 

Wealth tax paid 90,000 

Net Profit 16,80,000 

Total 72,80,000 72,80,000 

Other relevant information's are as follows : 

(i) An outstanding liability related to VAT for 2010-11 paid during 2012-13 is 

Rs. 1,00,000 which was not charged to above P & L a/c. 

(ii) Brought forward loss as per books of accounts is Rs. 1,20,000 while the 

brought forward depreciation as per the books of accounts is Rs. 1 ,60,000. 

(iii) Brought forward unabsorbed depreciation is Rs. 9,20,000. 

(iv) Brought forward loss under the head of capital gain is Rs. 7 ,00,000. 

Compute the tax liability of X LTD. for the assessment year 2013-14. (10) 

OR 

(a) Specify the following acts can be considered as an act of (i) tax-planning, 

(ii) tax management Or (iii) tax evasion : 

- I 
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(i) Mr. A deposits Rs. 60,000 in PPF a/c to reduce his tax liability 

(ii) A LTD. maintains a register of tax deduction effected by it to enable 
timely compliance 

(iii) XYZ LTD. Installed an air conditioner costing Rs. 50,000 at the 

residence of the director but, treats it as fitted in quality control section 

in the factory. This is with the object to treat it as plant for the purpose 

of computing depreciation. 

(iv) Mr. X, an assesee, has taken health insurance policy on his health & 

paying Rs. 10,000 per annum as premium. 

(v) Y LTD. is a chemical manufacturing company. It has a factory in 

Haryana, near Delhi border. Within the factory complex a piece of 

land measuring 1000 sq. mts is lying unutilized. The co. Starts new unit 

of manufacturing computer components there. But, to get the benefit 

of deduction u/s 80IB the co. Takes a factory building on rent in a 

village in Jammu, but, only on paper, it is shown that the new 

manufacturing unit is situated in the village in jammu. (5) 

(b) Explain the provision of section 79 of the Income Tax Act, 1961 as applicable 

to co., in which public are not substantially interested pertaining to carry 

forward & set-off of losses. (5) 

(c) For the assessment year 2013-14, a co. Has calculated its "Book Profits" 

as per the provision of section 115GB of income tax act, 1961 at 

Rs. 85,00,000 as against the total income of Rs. 15,00,000 for the same 

period as per the P&L a/c of the company. Calculate the amount of tax 

payable by the co. & whether the tax credit U/S 115 JAA can be allowed 

to the assesee ? If yes, how much ? (5) 

(Cfi) Cfl{-~ ACT cfit 'qR ~ ~ ~ CfiT ~ t ~ ~ Cfl{-cfq;f cfit 

~~~t I~~~~ I ~m"Cfl{-~Cfi) Cfl{-cfq;f 
"' 

~~~~ 

(~) x~~~~~Cfil 31 ~ 2013 Cfil~~~~~<1"M ~ 

m men-~ KliT "l1'IT t : 

P.TO. 
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WRur (Jfu (~.) WRur (Jfu (~.) 

~~~~ CfiiRt am ~ ~ 
O!:f<:r 20,00,000 ctT ~ 32,00,000 

3Rf ~an ctt ~ 3Rf Cffifan ctT ~ 29,00,000 
~ 

~ ~ O!:f<:r 16,40,000 

!'lttll~d ~ 16,10,000 ~ lfurr ~ 11,40,000 
"' 

~man ~~~~ 

~~~ 80,000 llfmm 40,000 

~~ 1,20,000 

3U(J-W ~ ~ 60,000 

uo:rw~~ 90,000 

~~ 16,80,000 

~ 72,80,000 72,80,000 

{i) 2010-11 ~ ~ VAT~~~ m ~ ~ 2012-13 ~ ~ 

1,00,000~. ~ ~ lffi (Jfu ~ ~ mR~ ~ ~ ~ llf I 

{ii) 3HAffi mR, "ffiq) ~ ~. 1,20,000 ~. ~ ~ 3HJOfur ~~~(lij, "ffiq) ~ 

~~ 1,60,000 ~. t I 

{iii) 3HAffi 31"1q:inf~a ~~~<lij 9,20,000 ~. t 1 

{iv) lfiiU~~~ ~ 3HAffi"6lf.=r 7,00,000~. t I X~~~ 2013-

14 ~ ~ ~ ~~ W ~ CfiT ~~I 

{Cfi) Pie-~a ~ fcfi Pi+=<1f<'IR<=~a qw;ff CfiT {i) w-~, {ii) w ~ ~ {iii) 

w-~~~~t: 

{i) ~A ~WmcnTCfi1fcnR~~ PPF~~ 60,000~. ~Cfimfr 

tl 

{ii) A ~. ~ "R ~ CfiR %g ~ am ctT llf w- CflclRt4Y CfiT ~ 

~~tl 
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(iii) XYZ ~ ~ ~ ~ Cfi.-§il!l .. R, A~liiCfi ~ 3lfCfRJ 1R 50,000 ~- ~ ct1T 

ct~lqlllllffif "CI5 ~ ~ ~ ~rorcrctl ~ ~ ~ wnm ~ t 1 ~ ~ "' '1''1x• "' 
ctt llf f<t ~ -m "i('ll~<rij cnt ~ ~ ~ ~ ~ ~ "lim t 1 

(iv) ~X~~ 3ltR~ ~~~~ ~~ ~t altt-crg 
~ ~ ~ ~ 10000 ~- ~ "Cflf ~ ~ t I 

(v) Y~~~~~~t~~~~6R~1011~~~ 

~ -qffi t 1 ~ CfliRfclCffl ~ ~ 1 ooo -em~ ~ ctiT ~ ~ ~ ~ 

s3lT t I ~ "CI5l Cfi~C< ~ ~ cnT ~ <tf ~ ~ ~ URT 80IB ~ 

affi1fu~ctlf {1'M~~ ~~~~ t I~~ ~ctl 
~~~~lifq-~~1R~~tlffif~~1R~~ 

"' "' . 
~ "lim t f<t ~ ~ 'IRe ~ ~ liTCf ~ Wffi t I 

"' "' 

((<l) ~ ~ 1961 ctl URT 79 ~ ~ l"1f ~3{t ctl O!ffiCZU ~ \l1T ~ 1R 

~ t ~ mRm cnt m ~ ~ ~ "i1fH~ "iiAffi ctt ~ ~ ~ t 1 

("~T) f.:ruRuT "Cflf 20 13-14 ~ ~ ~ ~ ~ 3ltR (Cffi{f {1'M ctiT qf<CfiW1, ~ 

~ 1961 ctl URT 115GB~~ 85,00,000 ~- ~ ~ \l1T f<t ~ ~ {1'M 

alk mf.f"Cffcl" ~ ~ ~ ~ 3FUU ~ ~ 1500,000 ~- ctt ~ 3W:r ~ ~ 

t I ~ IDU ~ "Cfl( ctl (Jfu ctiT qf<Cfict<i ~ altt ~ f<t CfliT ~ cnT URT 

115JAA ~ ~ "Cfl(-~ ctl ~~\ill~ t 7 ~mit~ 7 

SECTION B (~ <:Ci) 

2. (a) A LTD. Wants to acquire an asset, costing Rs. 2,00,000. It has two 

alternatives available. The first one is buying an asset by taking loan of 

Rs. 2,00,000 repayable in five equal annual installments together with interest 

@ 12% per annum. The second one is leasing the assets for which annual 

lease rental is Rs. 55,000 upto 5 years. The lessor charges Rs. 3,000 as 

processing fee in the first year. Assume the internal rate of return to be 10%, 

the present value factors are : 

Years 

P.V. 

1 

0.909 

2 

0.826 

3 

0.751 

4 

0.683 

5 

0.621 

PT.O. 

r 
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Assume lease rent, processing fee, loan as well as interest amount are payable 

at year end. Suggest which alternative is better for the company. Take rate 

of depreciation@ 15% & tax rate@ 30.9%. Assume the residual value of 

the asset is nil. ( 1 0) 

(b) Mr. X purchased an asset for scientific research for Rs. 20,00,000 in the 

previous year 2008-09. During the previous year 2012-13, the said asset 

ceased to be used for scientific research. The following informations are also 

submitted to you : 

Profits from business before depreciation 

Written down value ofblock of assets (15%) 

As on 1.04.2012 

(in Rs.) 

8,00,000 

12,00,000 

The scientific research asset if used for the business shall be eligible for 

depreciation@ 15%. 

Compute the total income, if the scientific research asset is sold for 

Rs. 30,00,000 assuming : 

(i) It is sold without using for business. 

(ii) It is sold after using for business 

err for 2008-09 & 2012-13 are 582 & 852 respectively. 

OR 

(5) 

(a) X & Y want to start a business with a capital of Rs. 5,00,000 each. They 

have two options for selecting the form of organisation, partnership firm or 

private Ltd. Company. The estimated profits of which, before the following 

deductions, are expected at Rs. 20,00,000. 

(i) Remuneration Rs. 20,000 per month each. 

(ii) A small car facility for private & official use for both X & Y, estimated 
cost Rs. 50,000 per annum each. 

(iii) Medical reimbursement Rs. 30,000 per annum each. 

(iv) Rent free house valued@ Rs. 50,000 per annum each. 

(v) Each will give a loan to business ofRs. 5,00,000 (a) 15% per annum. 

(vi) The profit after tax will be distributed equally as profits/dividends to 
X& Y. 
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Suggest whether they should form a partnership firm or a private Ltd. 

Company from tax point of view. All the calculations are to be done 

according to the provisions relevant to the assessment year 2014-15. ( 1 0) 

(b) X LTD. (a closely held company engaged in trading business) having 

accumulated profits of Rs. 15,00,000; advances a loan of Rs. 10,00,000 to 

a partnership firm on 26.10.2012. Mr. A possesses 15% equity shares in X 

Ltd. And 1/4'11 share in the profits of the firm. 

Explain the tax consequences for Mr. A, X Ltd. & the partnership 

firm. (5) 

(en) A~~ qf<tiqffi CfiT ~ ~ ~ t ~ ~ 2,00,000 ~. t I ~ 

'lffi G) ~ ~ I ~ ~ fcfl qf<tiqffi CfiT ~ cfi" ~ 2,00,000 ~. CfiT ~ B 
\i'll fcfl 12% ma- Cfft ctt G( -a~ cfi" ~ -qfq ~ ctt ~ ~ ~ m 1 qwr ~ 

e.. 

~ fcfl qf<tiqffi CfiT ~"Iff B B ~ ~ 5 Cfft ~ ~ 55000 ~. ~ ~ ~ I 

~ ~ Cffi'fT W-Ff Cfft ~ 3000 ~. ~ ~ cfi" -m ~ ~ I ~ ~ fcfl ~ ctl 
~ G( 10% t I~~ CfiRCfi ~ WfiR ~I 

e.. 

1 2 3 4 5 

P.V. 0.909 0.826 0.751 0.683 0.621 

~~fcfl~~. ~~. ~O?.lr~Cfftcfi" 3ffi~~~ l~fcfi 

CfiiRT cfi" ~ ~ ~ ~ t ? ~ ~ ctT G( 15% 3fu: ~ ctT G( 30.9% 

ti~Cfil~~~~~~ 
e.. "' 

(~) ~ X ~ ~ Cfft 2008-09 ~ 20,00,000 ~. ~ ~~11HCfl ~ cfi" ~ ~ 
qf<~{qffi ~ 1 ~ Cfft 2012-13 ~ ~ qf<tiqffi ~iuHCfl ~ cfi" ~ m ~ 
~auf 1 ~ Hkif<'lRqa ~ ~ ~ t: 

"' 

1_("4~'1:1+1 -a ~ ~ -a ~ 
01.04.2012 CfiT qf{~{qffi£il" cfi" ~ CfiT ~ ~ 

~ 

8,00,000 

12,00,000 

~i11H Cfl 3FRluFf qf<tiqffi CfiT ~ C4qijl4 cfi" ~ m ~ ~ \iiW1IT m "3"ij" "Iff 15% 
"' 

ctl G(-a ~ ~ CfiTC~ I 

~ aw:r cnT ~ ~ ~ ~i1tHCfl 3FRluFf ctT qf{ij.qffi CfiT ~ ~ 
"' "' 
30,00,000 ~. ~ ~ ~ ~ fcfl: 

(i) (fg C4qijl4 cfi" ~ m ~ ~ ~ ~ ~ l1f 1 

PT.O. 



5748 8 

(ii) '15 OQq<:flll ~ m ~ ~ cfi GITG ~~I~ 2008-09 ~ 2012-13 cfi ~ 
en ~= 582 ~ 852 -g 1 

~ 

(Cfi) X ~ Y, 500,000 ~- ~ ~ ~ cfi ~ OQq<:flll ~ ~ ~ -g I ~ -qRJ 

~ ~~en)~ cfi ~ ~ -g <:~1:?1~1~ ~'IT~ f(;j~2s ~ 1 ~ 
"' 

~j+uf.h1 ~. f.i+<r~f(;jR<:~a CflclR14Y -ij- ~, 20,00,000 ~- m ~ ~ t: 
(i) ~en) 20,000 ~- ~ ~ 

(ii) x ~ Y M en) Fw1T ~ Cfilmclqj ~ cfi ~ -rntt COR~~ fu« ~ 
atj+~Ha: 5o,ooo ~- m ~ N ~ 1 

(iii) ~ en) 3o,ooo ~- m ~ Rll?tictu a:n:r ~ ~ 

(iv) ~ cfi ~ 50,000 ~- m ~ ~ CfiT f.f:~ "W 

(v) ~ OQq<:flll cnT 5,00,000 ~- CfiT ~ 15% m ~ ~ ~ -ij- ~I 
(vi) ~ ~ cfi GITG ~ X ~ y en) ~ /~ cfi ~ ~ ~ fcffifur M 
~I 

~ ~ fcil qm ~ ~ ~-« <:11:?1~1~ ~~~~'IT~~ 
~ I ~ qf{Cfi6'll'11q RuRUT ~ 2014-15 ~~~aft cfi ~ ~ ~ t I 

(~) X f(;j~2s (Ci!:WW OQq<:flll ~ ~ ~ ~ CfiiAT) cfi lffif ~ {1"M 

15,00,000 t I '15 ~ <:11:?1~1~ ~ cnT 26.10.2012 cnT lffiiiT 10,00,000 ~- CfiT ~ 
~tffit lfl[~ A cfi-q-RJ X~~ 15% ~~-g ~~cfi~~~ 
mmt1 
~ A, X f(;j~2s ~ <:11:?1~1~ ~ cfi ~ ~ cfi ql{uu"''l. ~ ~ ~ I 

3. (a) XYZ LTD. (having income above Rs. 100 crore ) is contemplating an 
expansion programme. It has to make a choice between debt issue & equity 
issue for its expansion programme. Its current position is as follows : 

(Rs. in crore) 
10% debt 80 
Equity share capital (Rs. 10 per share) 
Reserves & Surplus 
Total capitalization 
Total sales 
Less: Total cost 
EBIT 
Less : Interest 
EBT 
Less: Tax @ 33.99% 
EAT 

200 
120 
400 

1200 
1076 

124 

8 
116 

39.4284 
76.5716 

• I 

I 

. I 
I 
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The expansion programme is estimated to cost Rs. 200 crore. If this is 

financed through debt, the new rate of debt will be 10% and the price­

earnings ratio will be 6 times. If the expansion programme is financed through 

equity, new shares can be sold at Rs. 25 per share, and the price- earnings 

ratio will be 7 times. The expansion programme will generate additional 

sales of Rs. 600 crore with return of 10% on sales before interest and taxes. 

If the company is to follow a policy of maximizing the market value of 

shares, which form of financing should be choosed ? ( 1 0) 

(b) The written down value of the block of asset (15%) as on 1.04.2012 was 

Rs. 20,00,000. An asset of the same block was acquired on 26.06.2012 for 

Rs. 10,00,000. There was a fire on 29.10.2012 and the assets were destroyed 

by fire and the assesee received a sum of Rs. 24,00,000 from the insurance 

company. 

Compute the capital gain and written down value of the block as on 1.04.2013 

assummg: 

(i) All the assets of the block were destroyed by fire. 

(ii) If part of the block was destroyed by fire & the compensation received 

Rs. 1 0,00,000. (5) 

OR 

(a) Mr. X is offered an employment in a company in Delhi on 1.04.2012 on a 

basic salary of Rs. 40,000 per month & dearness allowance of Rs. 20,000 

per month (50% of the dearness allowance forms a part of salary for 

superannuation benefits). He is offered a package of following allowances/ 

facilities at his option : 

Package 1 

(Rs.) 

(i) House rent allowance 10,000 p.m 

(actual rent to be paid Rs. 10,000 p.m in Delhi) 

Package 2 

(Rs.) 

-Rent free accommodation in Delhi 10,000 p.m 

(Rent to he paid by the company) 

(ii) Education allowance for one child 

-Free education to one child in a 

School owned by the company 

1,500 p.m 

1,500 p.m 

P.TO. 

r 
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(iii) Medical allowance 3000 p.m 

Reimbursement of medical bill 

of a private clinic 3000 p.m 

(iv) Conveyance allowance for personal use 

-Company's car facility for 

personal use of Mr. X 

5000 p.m 

(v) Telephone allowance 2000 p.m 

5000 p.m 

-Free telephone facility at the residence of X 2000 p.m 

Which package Mr. X should opt keeping in view its tax liability ? ( 1 0) 

(b) A company begins to manufacture an article in previous year 2009-10 in 

Special Economic Zone (SEZ). From the following information determine the 

amount deductable u/s 1 OAA of the income tax act 1961, for the assessment 

year 2013-14 :-

Total sales of the company 

Total profit of the company 

Sales of the unit in SEZ 

Export sales of the unit in SEZ 

Profits of the unit in SEZ 

(Rs. In crore) 

15 

3.5 

6 
4 

1.5 

(5) 

(en) XYZ ~ (~ 3Wf 100 ~ ~. t) fcffifR q'il4sM CfiT ~coB Cflf ~ -m t I 

~ Cfli4Sf141 ct ~ ~ ~ 3ik ~~coB~~~ CfiT ~ t I~~ 
"' 

fB1ffi ~ '5rcfiR t : 

10%~ 

~ ~ ~ (10 ~. ~ ~) 

~3lk~ 

~~ 
~:~~ 
EBIT 

~: arriif 

~: EBT 

qj( 33.99% cit ~ ~ 
EAT 

~~.~ 

80 

200 

120 

400 

1200 

1076 

124 

8 

116 

39.4284 

76.5716 
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fcffi:tR ifll%41 ctTI- 3i'j411Ad (1ll'ffi 200 ~ ~. t I~~ Fchih~"i ~ ~ fcfi<:rr 

\ilfffi t a1 ~ ctTI-~ m: 1o% inn 3W ~-awl~ £96 "lRT mm- 1 ~ ~ ..., ..., 

fcffi:tR ifll%41 CfiT Fchilll"i ~ tfi ~ fcfi<:rr ~ a1 ~ m ~ 2s ~. m=a-~ 
ctTI- m: ~ tm ~ ~ t 3W ~-awl ~ ~ ~ mm- 1 fcffi:tR ifll%41 ~ 6oo 

cni1s ~. CfTI' 3iklRCA ~ inn fuRffi ~ 3ffi: ~ ~ lfCf ~ 1R 10% CfiT ~ w:o . ~ 

mm- 1 ~ ~ ctTI-~ m ~ ~ 'qJq ~ ~ ctTI- it a1 m- wm cfi 

~fflll"i ~ ~ ~ I 

(~) 1.4.2012 ~ qf(~iqf?tii). cfi ~ CfiT ~ ~ 20,00,000 ~. ~I ~ ~ CfTI' 

qf(~jyf?t 26.06.2012 ~ 10,00,000 ~. ~ ~ ~ ~ 1Jf ~I 29.10.2012 ~ 3lJ1T 

"RlT 1Jf ~ fuRffi <tR~i<tRilli ~ it lli 3W ~ ~ ~ ~ ~ 24,00,000 ~. 

ctTI- mw w:o ~ 1 ~-~ 3W L4.2o 13 tfi ~ tfi ~ ~ CfiT "ll5 ~ 

~~: 

(i} ~ ctTI- "A <tR~i<tR=tlli 3ll1l ~~it lli 

(ii} 3lJ1T ~ ~ CfiT ~~WIT ~ 3ffi: 10,00,000 ~. ~ mtO ~ I 

(Cfi} ~X~~~ 1.4.2012 ~ 40,000 ~. ~ ~ tCR"1R ~ i1ffi "cit~ 

~ 2o,ooo ~ m=a-~ ~ ~ ~ t 1 ~ ~ CfiT so%~~ tfi 
~teA- CfiT ~ mm- 1 ~ ~ ~ tfi ~ Ptki~R<:td ~ aft< ~;m CfiT 

~ W;rr WIT: 

(i} lJ5~~ (ctl~~q:)~~ 

~ 10000~. m:a-~W:rr~"t) 

~~ ~ ~ 3iTCfRf 

(~~~~"t) 

(ii} ~~Cfiffuelr~­

~cfi fqJfiieq "Cf8~~ 
~ 

~ ~ ~ f.t~ fuelr 

~I(~.) ~II(~.) 

10,000~ 

10,000~ 

1,500~ 

1,500~ 

(iii} Rlfchct~l ~ 3000 ~ 

mW FcfclPlifl cfi Rlfchct~l ~ ctTI-~ 3000 ~ 

PT.O. 

- ··---_____r 
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( iv) "llr.IT 'Tffi fZIF<hi~ld ~ ~ ~ 

~X~ fZIF<hi~ld ~~~ 

~ ~ CfiR ~ 1fcrm 
( v) Un<h1"1 'Tffi 

X~ f.:rcrm 1R Fr:~ 2Jl<h1"1 ~ 1fcrUT 

5000~ 

5000~ 

2000~ 

2000~ 

((CJ) ~ ~ ~ ~ \ffi;r ( SEZ) ~ ~ ~ 2009-10 ~ ~ ~ ~ f.'riTur CfiT 

cwr m ~ ~ 1 Plwt~f(qa ~3H "« f.ruRuT ~ 2013-14 ~ ~ ~ 
"' c-. 

~ 1961 ~ um 1 OAA ~ ~ ~ ~ qrJi- '(ffu CfiT f.'rt1Rur ~: 

15 

3.5 

6 

4 

1.5 

SECTION C (~ ~) 

4. (a) Mr. K.P Sharma is resident retired professor of University of Delhi draws 

pension of Rs. 40,000 p.m & his other income during financial year 2012-

13 are as follows : 

(i) Interest on fixed deposits 

(ii) Interest on saving bank account 

Rs. 3,66,000 (Gross) 

Rs. 12,100 

He deposits Rs. 1,00,000 in public provident fund and pays donation of 

Rs. 50,000 to a charitable trust for deduction under section 80G. 

Professor Sharma also earned following incomes (converted in Indian 

Currency) from Brazil during 2012-13: 

• I 
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(a) Rs. 4, 90,000 for delivering lectures. 

(b) Rs. 3,10,000 as royalty from books sold in Brazil. 

Professor Sharma paid tax @ 20% on income earned in Brazil. Since, 

India has no agreement to avoid double taxation with Brazil. Although 

in respect of royalty income he claimed deduction in India under section 

80QQB. Compute tax liability of Mr. Sharma, assuming he is 62 years 

ofage. (10) 

(b) Discuss any one method of determining "Arm's length price" under transfer 

pricing provisions. (5) 

OR 

(a) X, a non-resident Indian remits $ 40,000 to India on September 16,2000. 

The amount is partly utilized on October 3,2000 for purchasing 10,000 

share in A Ltd., an Indian co. For Rs. 1,24,500. The shares are sold for 

Rs. 4,82,500 on March 3, 2013. He deposits Rs. 96,500 with an Indian 

public co. On June 7, 2013 (due date of filling return July 31, 2013). You 

are required to compute capital gain chargeable to tax for the assessment 

year 2013-14. Assuming A Ltd. is a non-listed company. 

Would your answer be different if A Ltd. Is a listed company & shares are 

transferred through national stock exchange. 

Telegraphic transfer buying and selling rates of US dollar adopted by state 

bank of India is as follows : 

Buying Selling 

(1 $) (1 $) 

September 16, 2000 Rs. 19.50 Rs. 20.00 

October 3, 2000 Rs. 20.50 Rs. 21.00 

March 3, 2013 Rs. 48.00 Rs. 48.50 

(10) 

(b) What is "Advance ruling"? When a ruling does becomes void? (5) 

{Cfl) ~ cfi . ..U. ~ ~ fci:tqfci~lcl~ cfi ~ ijqiH<ifi ~ ~ I~ 40,000 ~. m:a­
llm"~~~ ~~qq 2012-13 cfi~~ ~ ~~~~: 

P.T.O. 

__ __,r 
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{i) ~~.mlR~ 

{ii) ~~~11(~ 

3,66,000 ~- (~) 

12,100 ~-

ern- ~:ll<f~jif.1Cfl ~ f.ifU ~ 1,00,000 ~- ~ ~ ~ ~ URT 80G cfi-~ 50,000 ~ 

"tffi~citGR~~ I mw~citq--q 2012-13 cfi-~~~ Pl~~Rcta ~ 
"' 
(~cit ~~~~Cfi() ~I 

mw ~ ~~ ~ ~ 3T[<:fll( 2o% ctr ~~ Cfi( Wu t 1 m«f CfiT ~ tfi­

~ ~ CfimlH ~ ffi cfi" ~ ctTif CfiW ~ ~;m t I <Rlfil ~ 3T[<:l cfi" ~ ~ 

~ URT 80QQB cfi ~ m«f ~ cncTaT CfiT GICIT fcfi<rr t I ~ ~ cit Cfi( ~ 

CfiT ~ ~~ <rn" ~ fct ~ ~ 62 q--q t I 

((Cf) 3RRuT ~ f.=rcWuT ~.m cfi-~ ll ~ ~ ~" CfiT f.=rcWuT "CfiR ctr ~ 

~ fclfU ctf fcli?l'€1011 ~I 

• 
{Cfl) X~~~ t I ern- 16 ~ 2000cit 40,000~ m«f ~ t I <rn" 

~~:~~~ Amts~ 10,000~~-cfi-~3~2000 

cit CfiT1f ~ 'R -Rt ~ t I ~ ~ 1,24,500 ~- cfi ~ I ~ m cit trn" 3 ~ 2013 

cit 4,82,500 ~- ~ ~ ~ t I trn" 96,500 ~- 7 ¥ 2013 cfi" ~ ~ ~ ~ 

~ ~ Cfi(f ~ t (ftc-f ~ "CfiR ctf f-Fffi ~ 31 ~ 2013 t) I aw:rCfl) <rn" 

~fct A mts~~ ~iil<td ~t, f.=rcWurq--q 2013-14 cfi~~~ 

CfiT ~ Cfifo1T t fum lR Cfi( ~ I 

ctm 3{fqCfil ~ ~ imT ~ A mts ~ ~iil<ta ~ t ~ m CfiT 3RRuT 

~ ~ ~CR1il.lji cfi ~ fcfi<rr t 1 'f.~-~ ctr 26'flmflhct~ 3RRuT ~ ~ ~ . "' 

~ ~~~iiRT~WfiR ~~~: 



.. 
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Sfi(f ( 1 sTw) ~ (1 slw) 

16 ~ 2000 19.50 ~. 20.00 ~. 

3 ~ 2000 20.50 ~. 21.00 ~. 

3 ~ 2000 48.00 ~. 48.50 ~. 

5. (a) X Ltd. was amalgamated withY Ltd. w.e.f29.08.2012. The written down 

value of its block of assets as on 1.04.2012, the rate of depreciation and 

the value at which the block of assets were transferred to Y Ltd. by X Ltd. 

are given below : 

Block of assets Rate WDV on 1.04.2012 (Rs.) Transfer value (Rs.) 

Building 10% 10,00,000 9,00,000 

Plant & Machinery 30% 25,00,000 24,00,000 

Furniture 10% 5,00,000 4,50,000 

You're required to compute capital gain for X Ltd. and depreciation allowance 

for both X & Y Ltd. for the assessment year 2013-14 assuming that 

amalgamation is in terms of section 2( 1 B) of income tax Act. (1 0) 

(b) Write short note on "Slump sale"? (5) 

OR 

(a) S Ltd. is a wholly owned subsidiary of H Ltd. (both are Indian companies 

and both are closely held). 

H Ltd. had acquired a piece of land for Rs. 8;00,000 on July 8, 2004 to be 

used as open sky warehouse for its finished products. On July 12, 2007 H 

Ltd. transferred this land to S Ltd. for Rs. 12,49,000. In May, 2010 S Ltd. 

converted this land into stock-in-trade when the fair market value of land 

was Rs. 16,50,000 and finally sold the land for Rs. 20,60,000 on December 

31,2012. 

P. T. 0. 

----- r 
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CII in 2004-05, 2007-08, 

2010-11 & 2012-13 were 480, 551, 711 & 852 respectively. 

Discuss the tax implications of above transactions for H Ltd. & S Ltd. 

(10) 

(b) Define "De-merger" u/s 2(19 AA) of Income tax Act, 1961 ? (5) 

(Cfi) X RlPI2s CfiT Y ~ cfi ~ 'I"I<Jilil<"'"1 29.8.2012 ~ m w:rr ~ 1 1.4.2012 (f))~ 

~ ql{~iqRf~· CfiT ~ ~~ ~~~<1'1"1 ctt ~ ~ x ~ am Y ~ (f)) 

ql{~{qRf~· cfi ~ cfi ~ CfiT ~ ~ ~ ~ (61 ~: 
"' 

q~·qRf~· CfiT ~ ~ WDV on 1.04.2012 (f)) (~) ~~(~) 

~ 10% 10,00,000 9,00,000 

m~~ 30% 25,00,000 24,00,000 

~ 10% 5,00,000 4,50,000 

~ ctl URT 2(1B) ctl ~ cfi ~ 'I"I<Jilil<"'"1 "§:3ll ~' RuRur ~ 2013-14 cfi , 
~ X ~ Y Rlfil2s M cfi ~ ~~~<l;a ~ CfiT ~ ~ 1 

(Cfi) s Rlfil2s, H ~ ctt ~ ~ «nfilt=G Cl'T"ffi ~ Cfi'q;fl- ~ (M ~ ctiYPt~i 

~ ~ ~ ctiYPt~i ~) H ~ ~ 8 ~ 2004 cn1 8,00,000 ~. ~ ~ 

CfiT ~ ~ ~ m ~ fumCfiT m ~ *m: ~ ~ r:fi ~ ~ 3fTCfim ~ 

cfi ~ ~ fcnm ~ ~ I 12 ~ 2007 (f)) H ~ ~ 12,49,000 ~. ~ ~ ~ 

(f)) s ~ cfi OWJ afuftf Cfi( ~ 1 ~ 201 o ~ s Rlfil2s ~ ~ ~ cn1 ~ ~ 
~ ~ ~ "fum ~ ~ ~ CfiT ~ G~NJR mer 16,50,000 ~. ~ ~ aimf: 31 

~ 2012 cnl 20,60,000 ~- ~ ~ ~ I 

2004-05,2007-08,2010-11 ~ 2012-13~ CII~: 480,551,711 ~ 852 ~I 

H ~ ~ S ~ cfi ~ JY1Cfd ~ ~ ctl Cfi(-~orr ctl ~~il"11 

~I 

(1 000) 

' I 
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